= A =
AR EA S &
S a=FH Y EYSHy S #EEA Bator—iHe
KEeE4d BRELBAFPEERYT—RFEXRS
HREeEE B = 5 B B B 1% P ®BRIU—RESTL
ED BHE)—JE H25 | 8| 17 9:00 a—+ B
F—L% F—L%
— # & 3 - 2
ﬁEF @ 1 - 1) ﬂmﬂ
==l S (B 2 — 1) malsb or
( FEWUR ) E K — ( IKBER)
FF No. K £ G|Y|R FEH No. K % G|Y|R
x 1 EE x5 x 1 E&N 53]
x 2 xE # x 2 AP Fig
x 3 rX —E x 3 Wits 1EfE
x 4 R 15 x 4 8z =
x 5 AR FH+t x 5 f&sF 1&n
11 6 S$H A x 6 WT =i
11 7 KE KR 7 R $RE
22 8 # 2 8 FH F5R
x 9 R E—ER 16 9 RE KXig
10 FH £#A 10 BH OER
7 11 wR & 11
16 12 =ik X 12 B XiE
B xE B e E® WHE
TFINAT =l #WFE TFUINLT EE EE
SrwT ka8 Bh JHF—TFURA T RAR X&
T. O. -5 & LE NN
F-L | BER [ No. | FE| 37 F-L | BSR [ No.[FE| R17 F-L | BSR [ No.[FE| R17
#E 4 2lFa | 1-0
;| 6 olFa | 1-1
#E 17 7lF6 | 2-1
;| 24 4lFe | 2-2
#E 29 olFa | 3-2

<fEE>



= A =
/Nl
JCZPa=FAYVEY I hy T #EZA BERvT—HE
KEe4d FUEL2BEFPEERYT—EBFEXS
REES s = -3 A B B 1B O mEmsU-— zEUTLA
E®@ BFRE)—JE H25 | 8 | 17 11:55 a—Fk B
F—L% F—L%
® & 2 - 7 -
8 P p— 2R
thEEksk % 1 —  4) chsks
( KRR ) E K — ( Elg)
FF No. K £ G|Y|R e No. K % G|Y|R
x 1 EAN 55 x 1 A EAy
x 2 AR =i x 2 r H Bl &R
x 3 g 1ExE x 3 &&II B
X 4 8 = 6 30 4 g B g2 =
x 5 {Esp 1% 5 A H w R
x 6 T =i x 6 W = » E
20 7 IR wE X 7 A H a4
8 FH AR 29 8 T & g
14 9 AE KiE 30 9 % H SV
10 BH OEBR 10|  H B K
11 11| £ 2B 24
12 SR Xig x 12| Ik H £
BEE &2 RE BEE AE W=
FURAT ke =B FURAT WH
ST ke = JHE—TF7 A7 RKABR X
T. O. -5 & Y% EIE
F-h | BR[| No. | FE| 237 F-h | BER [ No| 3B | 237 F-ho| BERR | No [ FE | 237
ER 4 12(FG 0-1 EiR 22 3[FG 1-5
E: 191 7 41FG 1-1 ER 24 3[FG 1-6
ER 10 2|FG 1-2 EiR 26 3[FG 1-7
ER 14 7|FG 1-3 1§} 29 9(FG 2-1
ER 19 7(PC 1-4

<fEE>



= A =
AR E S8 &
JCZPa=FAYVEY I hy T #EZA BERvT—HE
KE&Ed FLEEBXRPEERYSF—RFEXS
HAES = £ A B B M B O wARTI-RsUTL
E® BFRE)—JE H25 | 8| 17 14:50 a—Fk B
F—L% F— L%
— . ® & 4 - 4 —
iR @ 2 — 3 ) PR
sk wE 2 — 1) chsis
( ELR) E K — ( FEWLR)
e No. K £ G|Y|R e No. K % G|Y|R
x 1 A  Er x 1 SFE =%
x 2 #r H B &R 15 2 xE #
x 3 BRIl #w B 26 3 A —H=H
4 = B g2 = x 4 R IhE
5 a3 H m A X 5 AR H+
x 6 = H E x 6 £m BA
x 7 B = %2 10 7 KE KR
8 T B B N 8 # Wz
9 £ H 2D 4 x 9 R T’ —ER
10| # H B K 8 10 FH £A
11| £ & =3 x 11 BwR EH
x 12| Ik H 3 16 12 ik BX
BOE AB #WE BT REn EHE
FUIRAT KAR X% FUINAT EE EE
TSy #EEH BZ =TT R4 T Ke THE
T. O. FUE I HREE
F-4 BERE [ No. | #& | 237 F-4 BErE | No. | 7& A37 F-4 BERE | No. | FE | 237
#iR 2 2lF6 | 1-0 #iR 19 3lFe | 3-3
#HE 5 olFg | 1-1 HE 23 olpc | 3-4
#HE 7 6|FG | 1-2 #iR 24 3lFe | 4-4
#iR 7 2lFe | 2-2
#HE 12 7lpc | 2-3

<fEE>



